107!

1072

107

H

<
L
T

0.95,

-10 —8 6

-4 -2 0 2 4 6 8 10

= BT e

[ pull of goverp parameter |

res

e 0
onslant 8 g%

n rnes

0 2,
onslam oy %
\uma

ek TS

e, 098
onstant 0
Ieana =

107!

1072

107

JEny

OI

IS
T

Ratio

0.95T

10—8 6—4—20 2 4 6 8 10

[ pull of @parameter |

107}

1072

1073

1074 et

L.z

1.1

Ratio
o

0.9
0.8

[ pull of dxy parameter |

107}

1072

Ratio
N

0-8-6-4-20 2 4 6 8 10

086 4-20 2 4 6 810

[ pull of 6 parameter |

TIes
. (S oy -0
_ : onstant Q
107 o 4l
E res - T
I | tcgjr?sst%t Oolsg%
3 iGAth 4

10—2 = ,_ f TIes —Ol. 3
E . Sho@nt 0, 5
E E A
[0 SERCIREER S | ¥ | 1 B e RN HE
107 I
Fooofoo o fo R RNBRNGE o N I I
o +wof + -t + +
= ‘e
@ N .
o [
L e e R SR N A A LS M o ab * S U A
I QE--—i--b-da :
0.95L

'—:.L086420246810

[ pull of dz parameter

107}

1072

| R :"i'u':i."l'ii'i& ' b i Z'ZZ'A""":""

.¢-- E--q—- o w!

—20246810




	Contents
	Page 1


